E=DPPZ
7ot — Fv I ) \—YHEZZV)U#ftF
OEAN—RCEICREF=VIVMRFCTT, OxaFEREI1MPa

TACHFTF e TACHEFEF
_ 13 q 13
RHS2 e o5 . s RSHS2 65 .65 s
[
Y I T o A
0 (o0} 4
‘ 1 B4 © IR
[ [T ]
\ 3XM5%0.8 A
HElg) | CfF) HElg) | )
55 | 80 | 55 | 80 |
TACHF:NF o TACH*F:UEF w417 12 M5X0.8
RHS2 a8l s RHS2 . g
|| =y @
‘ Hr ) K -
= 1] v
S \2XM5X0.8 tj .
M7 A M5X0.8 | S
Al () ZEAfi ()
15 | 50 | 65 | 170 |

TACH#FUTF
2XM5X%0.8
RSHS2
[o0]
Msxo.;
65 | 170 |
759 == o0
R3HS2 o 7 ZL—h i .
— Y o REHS2 § Nl 117
. _ ™ —
LS 11
RELREEEOE > M5x0.8 e .
TCRICEALET, '\,‘ M5X0.8

% ffi (F3) | #&R3—~ |i#AF2—7 (mm) % ffi (F3)
32 | s | *LC0320-M5 #3.0 2 1.5 60
$4.0 25 1.5 60

*HBF-6 $6.0 4.0 1.5 60
) 11 ]
RAHS2 \m : RAHS2 oy [
SR o N i N e o el | Ve (&)
[T L © a e | 9‘@ \U\U_L | \J
o f % =l %§
wallily i = o M5x0.8 i N VEx0.8
H2I—K  |@EAF1—7 (mm) B8 (g) | & (M) BRAF1—7 (mm) 1 (F)
*LH0320-M5 $3.0 2 55 170 *LB0320-M5 #3.0 2 5.3 190
$4.0 25 55 170 $4.0 25 5.4 190
$6.0 40 6.0 170 6.0 40 6.5 170




